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Topic:- General Knowledge and Logical Knowledge

1) If SOLID is coded WKQDJ, then how is LIQUID coded? / df¢ SOLID %1 WKQDJ & ®ifed far Srdr

g, I LIQUID & 34 wifed foar w2

1. PEVQPX
2. PEVQPX
3. PEVPOX
4, PEVPOW

5. PEUPOX

Correct Answer :-

« PEVPOX

2) Find the odd one out: / T fauH JTd HifeE:
1. Silk and Shirt / Riee 3R =€

2. Wood and Table / TSl IR Hel

3. Oil and Lamp / a1 SR ¥

4. Water and Ice / U1} 3R S0

Correct Answer :-

« Oiland Lamp/a?f&ﬁTaTq

3) Choose the odd one out: /WWWW:
23,29, 35,41,47,53

1. 41
2.23
3.35

4. 29

Correct Answer :-



4) If COME is coded XLNV and ABLE as ZYOV, then how is MOLLY coded? / Tf¢ cOME D xLnv | Sifed far

STaT § 3fR ABLE BT zvov & HIfSa fpar wimar 8 af mowly &Y A Fifea frar s
1. LNOOB
2. NLBOO
3. NLOOB

4. NLOBO

Correct Answer :-
« NLOOB

5) Palakmati, the first irrigation tank of the erstwhile Bhopal State, is located in / ‘-ﬁ'CI'IFTWUBFIT ﬁﬁﬂé %'E,
UdeHd! 39 oE § fRIT 81

1. Shahpura / RMSYRT
2. Raisen / G

3. Urmara / SHRAT
4. Bhopal / T

Correct Answer :-

« Raisen / I8

6) Which city has been chosen to host the FIFA Under-17 World Cup 2017 final ? / {5 8% &1 WIHT 3(3-17

oy FU BT B AFEF] B &b U AT AT S ?
1. Kolkata / ShI@apIdT
2. Goa /Tdl

3. Guwabhati / T]dTg E‘I
4, Kochi / Bt

Correct Answer :-

« Kolkata / BIAbTdl

7) Which one of the following cities hosted the Twelfth South Asian Games, 2016? /ﬁ"m Q'I'E'ﬁ 73 fraa E'RE'a

efaror TR |, 2016 Y Aart @1 A2
1. Patiala / UfcaTar

2. Guwahati / !galsé



3. Agartala / 3TIRdd]l
4, Kochi / DI

Correct Answer :-

¢ Guwabhati / !!alﬁé

8) Which is the oldest museum in India? / HIRd Pl Iaq ORTAT LV EGL CACK: | %?
1. Victoria Memorial / faaeifar Aiiaa

2. National Museum / T@'q TUedd

3. Indian Museum / WW

4, National Rail Museum / ﬂ@u 3 W

Correct Answer :-

« Indian Museum / HRT SUTEA

9) Which is the capital of Tripura? / ﬁ'ﬂ?T B IS ﬁq’ 3t %?

1. Imphal / SHPICT
2. Dibrugarh / [3@’ [

3. Agartala / SRl

4, Kohima / m

Correct Answer :-

« Agartala / 3TTRddI

10) Which of the following wildlife sanctuaries is in Hoshangabad? / fFrfif@d a=aeiia srvarual & @ 19 a1
gIiTTaTE A 82

1. Bori Wildlife Sanctuary / SIRI g-Ioid SHIRTG

2. Dindori National Park / TESRY QTgTq Il

3. Bandhavgarh Wildlife Sanctuary / SIATG IS HUIRTY

4. Chambal National Park / Jddl Trgﬁﬂ 3l

Correct Answer :-

« Bori Wildlife Sanctuary / SR} g=Ioid SHIRTG

11) On June 16, 2017 at which border did the India China standoff start? / 16 ST 2017 @I fooa ST IR URd
N BT AfARIY (XS 3HTH) IR G2

(4)



1. Doklam border / Sy AT
2. Attari border / ~3'IE'R°[ St

3. Wagah border / dTdl Bt

4. Jiandao border / TG e

Correct Answer :-

« Doklam border / SIHaATH AT

12) When was Panchayati Raj Adhiniyam passed in Madhya Pradesh? / e USRT § U ¥t SRy B
T 3T Y12

1. 1993
2. 1992
3. 1995

4. 1990

Correct Answer :-

o 1993

13) Recently, with which country did India sign an agreement to connect both lands by waterways? / gI¢l B ﬁ:,

R 7 {5 32 & w1y St gRT 41 3=M 31 siteA & e v aweia W gwaner feu
1. Sri Lanka / SiciehT

2. Bangladesh / SRl

3. Pakistan / UTfh &l

4. China / 919

Correct Answer :-

« Bangladesh / TG

14) National animal of India is___. / HIRd T I uyr gl
1. Bull / §&

2. Tiger / §TY

3. Cow /TTII

4, Lion /2

Correct Answer :-

o Tiger/dlY



15) The Constitution of Jammu and Kashmir came into force on / \_rl'ﬂ'i\}ﬁ? HRAR BT HEfAY™ Eal
GIURERIRIRIKI]

1. 15 August 1946 / 15 3TI¥d 1946
2. 15 August 1947 /15 3T 1947
3. 26 January 1957 /26 ST 1957

4. 26 January 1950/ 26 ARt 1950

Correct Answer :-

« 26 January 1957 / 26 SFARY 1957

16) Jalabhishek Abhiyan’ is launched in the state of .| < TTeTTfAgE farT ST | URY fpar
T T |

1. Jharkhand / IRES
2. Rajasthan / STRITT
3. Chhattisgarh / @T‘ﬁﬂ"'l_({

4, Madhya Pradesh / PERI

Correct Answer :-

+ Madhya Pradesh / H& e

17) Who among the following founded the Atmiya Sabha in 1815? / 1815 ¥ fArferad & & fra= smefig qur
&I WM Bt A2

1. Raja Rammohan Roy / XTSIl EHEA I

2. Keshab Chandra sen / R4 g% I

3. Bijoy Krishna Goswami / fora CaYl T
4, Debendranath Tagore / ATy SR

Correct Answer :-
» Raja Rammohan Roy / XTSIl HHRA ™

18) Who are the beneficiaries of the Pradhan Mantri Vaya Vandana Yojana? /umwaﬂ!ﬂw%

GG R

1. Children between 6-14 years / 6-14 CLE e
2. Unemployed youth / CRUSHIN gdl

3. Rural population / PIGILEEIEIE



4. Senior citizens / ‘q’ﬁg RS

Correct Answer :-

e Senior citizens / aﬁg ARG

19) The Supreme Commander of the Armed Forces in India is / YRA H TR G131 BT el HHIST DA

87
1. Chief of Defence Staff / I Uqy9
2. The Prime Minster / T H3l

3. The President / TIgCIﬁf

4. The Defence Minister / &[T HAT

Correct Answer :-

e The President / Tlgcﬁ%[

20) In November, 2017 India will host the Global Conference on Cyber Space (GCCS) in which city? / -Td¥R

2017 B YR f5a rex & e’ W W e awad G smaifa sam?
1. Chennai/aﬂ—sc
2. Mumbai/@g

3. Bengaluru / ot VLR
4. New Delhi / 7S faeait

Correct Answer :-

e New Delhi / T&F faet

21) The first Indian woman to swim across the English Channel was /a? Gy gf%r-‘u %Frﬁ R mﬁ arelt 'l'-l'é"(ﬁ
YR afgar e 8-

1. Nisha Millet / =11 fircie

2. Bula Chandhury / &l 9TeR
3. Bhakti Sharma / yfea zmf
4. Anita Sood / 3Tl Ja

Correct Answer :-

e Bula Chandhury / JciT e

22) The number of spokes in the ‘Chakra’ in Indian National Flag is / HIR<d Y1 45T & 'a1sp" H wiferdl ot
TBIT§:
(7)



1. 40
2.24
3.22

4,20

Correct Answer :-

. 24

23) Find the odd combination of letters and numbers from among the following: / mﬁ' ﬁ'ﬁ G{&m t-',a'
Tl T fauw Jaie F1d 39
i. 5315070 ii. 5315070 iii. 5315700 iv. 5315070

1. il

24) The important fort located at Jabalpur is the / SISCTYY T @ Wf fearg
1. Rana Sanga Fort / 10T Tl foar

2. Amla Fort / 3Tl fobell

3. Maharaja Fort / HeIRTSIT oo

4. Rani Durgavati Fort / TFﬁ'gETTﬂ?ﬁﬁ_Q’IT

Correct Answer :-

 Rani Durgavati Fort / ﬂ:ﬂgfﬁa?ﬁm

25) Complete the series choosing the missing number: / TG IBAT GADBR YT DI [T BIFTT:
7,9,13,21,

1.42

2.37

3.27

4,30

Correct Answer :-



o 37

26) Complete the series choosing the missing number: / TG BT TADHR YEAT DI [T BIFTT:
1,2,9,28,65,_

1. 126

2. 152

3.132

4. 145

Correct Answer :-

e 126

27) Complete the series choosing the missing humber: / & T JTHT %I_EFIT?ﬁ T PifoTg:
12, 16, 24, 40, _____

1. 84

2.76

3. 88

4.72

Correct Answer :-

e 72

28) Complete the series choosing the missing letter/s: / T &R/ 3H&RT BT TAB YT DI GRT DITOY
ab__abb__ba_b__

l.a,a,a,b

2.a,b,a,b

3.b,a,a,a

4.b,a,b,a

Correct Answer :-

29) Select the option that is true about the Statements and Conclusions given: / 39 e sraas
Pifore wifer faw ¢ Hy=T iR fFrewef & IR § Tgt 8

(©)



Statements: [/ YA
All bats are balls / gt I ﬁa’%
All balls are balloons / It Tig ﬂﬁﬁ' %

Conclusions: / faspH:
I. Some balloons are bats / $9 ﬂﬁﬁ' I ©
IL. All balloons are bats / G TR Ied &

1. only conclusion Il follows / Fad ey || WW%
2. only conclusion | follows / FHad A=y | WW%
3. neither conclusion | nor conclusion Il follows / = é)[ fspd | 3R A _Eﬂ sl STTIRUT B %

4, both conclusion | and Il follows / TSHY | 3R 11 ST SFERU R &

Correct Answer :-

« only conclusion | follows / Had =y | WW%

30) Select the option that is true about the Statements and Conclusions given: /39 R k|
PIfoTT Sifer faT 1T HAT iR el & IR § Tdl 8:

Statements: / DY:
All beds are cots / ot foeR EHTQTQ‘ ﬁ% %
No cot is sofa / aﬁémiﬁmqﬁ%

Conclusions: / fAep:
I. No bed is sofa / Hﬁéﬁﬁ??ﬁ'ﬂﬂ?{ﬂ%
II. No sofa is cot / BIS HIBT ARYUTS 8] 8

1. only conclusion Il follows / Had f=hy Il WW%

2. only conclusion | follows / Had F=pY | \’rlﬂﬂTUTEb_QT'IT%

3. neither conclusion I nor conclusion Il foIIows/:f_E?[ﬁEb_‘Sfl @?qﬁﬁlﬁﬂf 1l &WW%’
4. both conclusion | and Il follows / &Y | AR Eﬁ:ﬁ &wmﬁ%

Correct Answer :-

 only conclusion | follows / Had =pY | \ﬂwa’ﬂ?ﬂ%

31) Select the option that is true about the Statements and Conclusions given: / 39 faweq &1 79+

HIfore Sife 3T T HUAT ok el & 9k & 98l 3

Statements: / PY:
Some sandals are shoes / $© REL| 51\’?[ Bﬁf %
Some shoes are gloves / $& Jsd &M Bld &

Conclusions: / fAp:

I. No glove is sandal / ﬂﬁ'é: Tl GEL T(ﬁ%
II. Some sandals are gloves /| $& GEL A5 ] Eﬁf %

(10)



1. only conclusion Il follows / Had ey (] &WW%
2. only conclusion I follows / Had FT5pY | \?rlﬂﬂTUTa’)_Q_dT%
3. neither conclusion | nor conclusion Il follows/qéﬂeﬂﬁﬂfl ﬁTQQﬁW 11 WW%

4. both conclusion | and Il follows / TR | aﬁ? I g TR B %’

Correct Answer :-

¢ neither conclusion | nor conclusion Il follows / - Eﬁ fspd | 3R T ?)f ey || SR GG %

32) Select the option that is true about the Statements and Conclusions given: / 39 fd&eu &1 a9

HIf Siifes g g T SR el & TR § wal 3

Statements: / ©Y:
Some people are clever / $S AT ATATH BId &
Some clever are fools / T© ITATS §H Id &

Conclusions: / fAesd:
I. Some people are fools / TS AN TH &
II. All fools are clever / T} I ara® &

1. only conclusion Il follows / Had ey Il GHHTUTW%

2. only conclusion | follows / Had =py | @wfb_{?ﬂ%

3. neither conclusion | nor conclusion Il follows / = ﬁf ﬁrmm“ | GhT « E?[ oy || TR GRG %
4. both conclusion | and Il follows / f&AY | 3R 1| Ea:ﬁ &WW%

Correct Answer :-

« neither conclusion | nor conclusion Il follows / - é’r sy | 3ﬁ? - ébf sl STERUT P %

33) Find the next expression in the series: / 4G § 3T UG HI JTd HITOIC:
A, ABB, ABBCCC, 2

1. AABBCCDDDD
2. ABBCCDDDDD
3. ABBCCCDDDD

4. ABBBCCCDDD

Correct Answer :-

e ABBCCCDDDD

34) An examination paper consists of 8 questions divided into two parts 'A' and 'B'. Part A consists of
4 questions, and Part B consists of 4 questions. A candidate is required to attempt 5 questions
selecting at least 2 questions from each part. In how many ways can the candidate select the

(1)



questions? / TH TT-UA A s UY & R gt urm v iR Mt A v s fear mar 81 A A 4wy 8, 3R
YRT B H 4 U9 T 1 TP SWIGaR & T 3maxa® 3 f 98 U U S $9 § HY 2 Ul T 99 $d §U 5 Ul
P 7T B3| fhaq atel ° Sufigar uHl &1 w0+ % TPl 82

1. 38
2.36
3.42

4. 48

Correct Answer :-
o 48

35) The series given below contains a sequence of humbers. Identify the incorrect combination: /

A & 7S e #, Wensit 1 uh vH SufRId &1 Tad Ao ugdi-e:
56, 72, 90, 110, 132, 150

1. 90

2. 110

3.72

4. 150

Correct Answer :-

e 150

36) If ANIKETis coded BOJLFU, then how is VIKRAMDAS coded? | Tf¢ ANIKET &\ BOJLFU Hif3d
forar SITaT 8, @ VIKRAMDAS ) 9 ®ifsd fear S

1. WILSBOEBT
2. WILSBNEBT
3. WILTBNEBT

4. WILSBNEBP

Correct Answer :-

o WJLSBNEBT

37) Study the instructions carefully and find the value for the following: / fNG=Il &1 eAFYd® sreaa—
$¥ 3R e &1 1 | B

Here; / Tlﬁ;

(12)



+=> Multiply / 0TI BT
* => Division/ ICEEE

/ => Addition/ IRT

- => Equal to/ P WIEX

= =>Minus/ BUT

(22/3) + (2+5) * 5
1. 50

2. 40

3. 100

4.75

Correct Answer :-

« 50

38) The fourth Guru of the Sikhs was / ﬁm‘r%ﬁ&w O
1. Guru Ram Das / T¥= X[H aI¥

2. Guru Angad Dev / = 37T <d

3. Guru Gobind Singh / TR s 8

4. Guru Amar Das / TR 3fHY QY

Correct Answer :-

« Guru Ram Das / 3= [H &I¥

39) In a certain code language, peka doka suka means hit and hot, fetu peka seka means well and
good, leka suka maka means hit the target. Which is the word for Aotin that code language? [/ T®h
W B8 HINTH, peka doka suka b1 A hit and hot, fetu peka seka o1 IS well and good, leka suka
maka ®1 344 hit the target 811 81 39 B1s YT A Aot P fore frd eg &1 swiwTa f5am Tam 82

1. doka
2. suka
3. fetu
4, peka
Correct Answer :-
e doka

40) In a certain language kol/ek ta tej means early to bed and ala tej meeg means common bed
room. Then in that language the word tejis used for: / Th W™ PIS YT 'ﬁ, kolek ta tej d1 3 early

(13)



to bed 3R ala tej meeg H1 31 common bedroom'eﬁ?ﬂ?l ?ﬁ, W@S’ yreT H tej%ﬁl'qﬁv‘\qmm
SRS fopar T 82

1. early
2. bed
3. common

4. room

Correct Answer :-

e bed

Topic:- Mental Ability and Mental Aptitude

1) i
In the sequence shown below, which figure comes next? / @il ¢ 71 & H, el

T it ST IR

4.

Correct Answer :-

2)  The simplified form of X3 (X%=X"% is: / X*x (X°=X") & Tedd &9 g

1. X2

2. X

(14)



3. x3

4.1

Correct Answer :-

3) Ifthe following two squares shown below overlap, which one of the following options is formed? / Zfe;

e @ oo sfacaiug @ & e § O &l 91 o deeq a+ar &7

T
\
L]

i

&

Correct Answer :-




In the sequence shovwn below, which figure comes next? (AR T3 TR & # 3N BT@'I-_ET HiaT °r

A AN A Al
DY N Y

17

h

5) 22 1 5 %
Simplify: / T B [=+— %2 = += x—
RS 532375 0

1.3

2.4

3.2

4,1

(16)



Correct Answer :-

.1

6) Naresh travels to a place 300 km away at an average speed of 50 kmph and returns at 60 kmph. What is the
approximate average speed of the whole journey? / 300 TSI, g3 TH RIF % fore 1= 50 foedY. wia der ot ara
T YT BT 3 3R 60 TP, ufey "er I a7 SmaT 8 1 ) A &t @99 Sitvrd ifay s 82

1. 70 kmph
2. 40 kmph
3. 54 kmph

4. 65 kmph

Correct Answer :-

7) The difference between four times the age of A and five times the age of B is zero. 15 years hence, the
difference between the ages of A and B will be 5. Find the present age of A./ A P4 '{Fﬁ 3 RBHI5 '{Fﬁ
3T BT AR 0 81 15 T 91, A 3R B P 3T BT 37aR 5 811 A T aei 3y J1d B4 |

1.3
2.5
3.7

4.15

Correct Answer :-

8) The average of 5 numbers is 50. If each number is increased by 5, the new average is : / 5 T3 BT 3iad

50 21 afe Ud® GBI H 5 Siis fear sme, 9t 7ar i gim:
1.57
2. 54
3.53

4.55

Correct Answer :-

e 55

9) My mother was as old as | am today during my birth. If my mother is 60 years today, find my present age. JR-ik: 1]

Pt IU W 9 & SR Ia- At fora=t oy a6t 30 71 afe oirer 11 &1 39 60 T B <t B adu= emg w2
_ (17)



1. 29years/29aﬁf
2. 28 years/28?il"5f
3. 31years/3la‘3f

4. 30 years/ 30 Ty

Correct Answer :-

* 30 years/3()a"3f

10) If a rain coat has a marked price of Rs. 250, but was sold at Rs. 225, what could be its discounted price? /'CI'%

TS YTdhIe BT 3ifhd Ted 250 T B AfBT 3 225 T4 | ST 741, Fe o1 wia=rd fobasn ghm?
1. 9%
2.11%
3. 10%

4. 8%

Correct Answer :-
o 10%

11) A person commutes to his office at 5 kmph and returns home at a speed of 1 kmph. If the total time taken is 6
hrs, then what is the distance between his house and the office? / T fad 3ru= 3iifthw 5 forel/d S ara d
ST 8 3R 1 fareft/e Y i & 9o ot 31 9t 99 e 6 9 @ € oY S R A SHifthw B gff fpat 82

1. 7 km/ 7 Tl
2. 5 km/ 5 o,
3. 8 km/ 8 fortt.
4. 6 km/ 6 T HI.

Correct Answer :-

« 5km/ 5 o,

12) A fruit seller purchased 20 kg of apples at Rs. 8 per kg. He found 5% of the apples to be rotten. If he decides to
sell the remaining apples at Rs. 11 per kg, what will be his gain percentage? / ¥ e fagear A 20 feu. @'ﬁ, 8
T/, B R QTG | o 1 5% 99 T T¢I AW Jal i afe I8 1 TU/ fovedt &Y g2 | A ar 39
e @y W g2

1. 30.625%
2. 40.625%
3. 50.625%

4. 60.625%
(18)



Correct Answer :-
* 30.625%

13) what would be the digit in the unit place of the product of 61*62*63* ........ *68%69? / 61*62%63* ....... *68*69 P

TUHEE A 313 I | 314 aral T 1 gihil?
1.4
2.0
3.9

4.8

Correct Answer :-

14) The population of a country grows by 2% in one year and 3% in the next. The combined growth for two years is:

/T 3 B ST} st 9 29 T dedt @ 3R TR a¥ 3% T Jedl ¢ 1 57 2 9uT H SH S Y e &
afttm g w e:

1. 5.06%
2. 6%
3.5%

4. 4.94%

Correct Answer :-

« 5.06%

15) 56% of 75 + 9% of 125 =?
1. 63.25
2. 83.25
3.73.25

4. 53.25

Correct Answer :-

e 53.25

16) How long does a train of 120 m long running at the speed of 66 kmph take to cross a bridge of 155 m in length? /

120 T, ¥ TS 7 66 fHTil/d o1 a1 A 155 1Y, T8 ga B foraii & O uR S

1. 15sec/ 15 @
_ (19)



2.12sec/ 129,
3,18 sec/ 18 9.

4. 14sec/ 14 9.

Correct Answer :-

e 15sec/ 15 9.

17) Three pipes can empty a tank in 10 hrs. How many pipes are required to empty the tankin 2 hrs? / 3 QIgU T

<% Y 10 U H W $T TPd ¢ | S ¢& DI 2 U F Wit 3 P g pa- urgul o1 siwexa g2
1.18
2.6
3. 10

4. 15

Correct Answer :-

e 15

18) The sum of the ages of a mother and daughter is 56 years. If after four years, the age of the mother will be three
times that of her daughter's; then, find their respective ages. / T HIdl 3R W &t Sl T UNT 56 aﬁ%l 'q% 4
T ST, ATAT 1 31g T B 3y o1 i T 81 91 ) arar i T &1 3y swu=r: ghfl-

1.44,12
2.42,14
3.46,10

4. 40, 16

Correct Answer :-

19) The purchase cost of 5 mangoes is equal to the selling price of 4 mangoes. What is the profit percentage? / 5

3THI BT 59 Y 4 T & fIha Iou & TR 8 1 a1H ST ufa=ra o1 gim?
1. 20%
2. 25%
3.33%

4. 30%

Correct Answer :-
e 25%

(20)



20) A man can do a job in 14 days. His father can do the same work in 7 days and his son will take 21 days to
complete it. How long will it take to complete the same work, if three of them decide to work together? / Tdh iR

P o 4 T A R Iea 1 STsT AT s &1 7 A i R gwar @ s ST et 21 A & &
I BT B QRT B T i A THA1Y HTH B dl HTH GRT g1 F fha=1 awg am?

9 9
3—days/ 3—Tq
3 dmst Soole

2

3 L days/ 3%%?
5. 2

"
3

3.

days/ 3%%3’
3

1
3

3 days/ 3L
, 1 (ST

Correct Answer :-

21) The average marks of each section with 30, 45, 52 students are 30, 45, 41, respectively. What is the average

marks of all the sections combined? / 30, 45 3fI¥ 52 faenfiaY Tfed Ud® V=M F N 3P HHRT: 30, 45, 41
21 9 Ao & T A1 3ihl T S T 32

1. 44
2.375
3.43.2

4. 39.8

Correct Answer :-

* 39.8

22) A class has 20 students. During an examination in mathematics 2 students scored 100 marks each, 3 got zero
each and the average of the rest was 40. What is the average of the whole class? / T DET # 20 ﬁ?]“ﬁ%l qﬂ&ﬂ ]
2 ferenffat @ it & Ule B 100 3 3R 3 B I 3 frera & iR AW F 3] o7 3N 40 &1 TFOl
P& & 3B BT 3T fba=r gim?

1. 45 marks / 45 i
2. 35 marks / 35 3{&

3. 32 marks / 32 3{&®
(21)



4. 40 marks / 40 3{

Correct Answer :-

e 40 marks / 40 3fh

23) What is the average of the first 25 multiples of 9? /9 * UYH 25 '{[UH@'UG'-}[W 3fad W%?
1. 117

2.25

3.45

4.9

Correct Answer :-

« 117

24) A certain recruitment examination has three sections viz., Analytical (40 marks), Logical (50 marks) and
Numerical (60 marks). Only the candidates scoring a total of above 80 % are short-listed. Sheela got 35 marks in the
Analytical section and 60 % marks in the Logical section. State the minimum score that she has to obtain in the

Numerical section to appear in the short-list?/ﬁﬂ“ﬁﬁﬁf\ﬂﬁ il wdtem & d ymT: fa=eroor 40 Gﬁ?‘),?l% (50
3iP) 3R FWATHD (60 3ip) &1 T Rk I F1 glar 8 ™I 80% T 31 3i Ut €1 =Ma1 31 35 3ip
fa=eIwor URT H, 3R 60% 3 T T YR H fid | 39 gRT GBIdd YT H fid ofd J1a o o
DT 99 Bl b2

1. 45
2.50
3.55

4. 40

Correct Answer :-

25) A ball of wax of diameter 30 cm is melted to make candles 5 cm long and 2 cm radius. How many such candles

can be made? / FI¥ P TP ¢ T T 30 AHY. €, 39 fUaere 5 9. Tt 3R 2 I B &1 Awefwai
1S 1 € | A @1 e feat gihile

1. 225
2. 900
3. 450

4. 180

Correct Answer :-

(22)



e 225

26) Aniron bar has a length of 11 m and weight of 23.1 kg. What will be the weight of a similar iron bar, which has a

length of 13 m? / T &1 T IR P TS 11 HY. 3T ITBT YR 23.1 fHU1. §1 I & T9H T 3 IR
Rt avarg 13 M. €, o1 YR fHaar grm?

1. 65.3 kg / 65.3 T,
2.27.3 kg /27.3 T,
3. None of the above /E:I'ﬁf@[ﬁg:@[

4. 28.3 kg / 28.3 ToouT,

Correct Answer :-

. 27.3kg/27.3 fhu.

27) In an election between two candidates, the one who gets 35 % of the votes polled is defeated by 15, 000 votes.
Find the total number of votes polled for winning candidate. / Ebf ufqurirat & §= g-1d t: Th B 35% dle faad
3R 9% 15000 el A TR 7| Sfta g€ UfAurh %1 $o fra dle fre?

1. 33,000
2. 32,000
3. 31,500

4. 32,500

Correct Answer :-

28) Which one of the following four addresses is NOT EXACTLY same as the one given below? / 1%

4% T IR vel # 9§ 1 38 T a0 & Se aHH 919 91 T 16 82

Christine Smith
6, Kutuzovskaya st.,
Platforma Kutuzovskaya,

Podolsk, Moscow region, Russia

(i) Christine Smith
6, Kutuzovskaya st.,

Platforma Kutuzovskava,
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Podolsk, Moscow region, Russia

(i) Christine Smith
6, Kutuzovskaya st.,
Platforma Kutuzovskaya,

Podolsk, Moscow region, Russia

(iii) Christine Smith
6, Kutuzovskaya st.,
Platforma Kutuzovskaya,

Podolsk, Moscow region, Russia

(iv) Christine Smith
6, Kutuzovskaya st.,
Platforma Kutuzovskaya,

Podolsk, Moscow region, Russia

1.iv
2.1

3.ii
4, iii

Correct Answer :-

29) The series given below contains a sequence of alphabets and numbers. Identify the incorrect combination: / EiE|

18 g A, srery 3k Temait &1 uw wH fAfed €1 Tea YU ugenAe:

i.cedf5214ccfd
ii.ccdf5214ccfd
iii.ccdf5214ccfd
iv.ccdf5214cofd
1. iv
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2.1

3.ii

4. iil

Correct Answer :-

o v

30) Find the average. EILCARCAINE]
112, 114, 126, 118, 120 & 124

1. 115

2. 118

3. 117

4. 119

Correct Answer :-

e 119

Topic:- Science and Simple Arithmetic

1) Given v2 = 1414, the value of 24501s: / e mar % V2=1414, 2450 &7 Hd %\:
1.59.49
2.39.59
3.49.49

4,247.45

Correct Answer :-

o 4949

2)
Given 2POR = 3x® and 2QOR = 25¢ + 10°. If POQ is a straight line, then the value of 3x° + 10°is: / f&am T=aw E\
fan /POR =3x 3K 2QOR =2 + 10°. IfE POQ Teh |Yel {WT & of 3x°+10° & & &

(25)



)
/
P 0 Q
1.82°
2.34°
3.102°
4.112°

Correct Answer :-

3) Iodineis a vital component of hormones produced by: / SIS gHIAl &1 TP W UeH ¢ ol TP
BRI IATed BidT 8:

1. Thyroid gland / &la‘gu'fir

2. Adrenal gland / 3@@%@
3. Pituitary gland /tﬁqﬁf‘jﬁ

4, Pancreas / SIARY

Correct Answer :-

« Thyroid gland / 3/ag UfY

4) Mohan wants to buy a trapezium shaped field. Its side along the river is parallel and twice the side

along the road. If the area of the field is 10500 m? and the perpendicular distance between the two
parallel sides is 100 m, the length of the side along the river is: /'Fﬁng THAH ATPR BT &
TG I8l 8 1 SST TSI & ATY BT YSATE AR § SR TSP b 1Y it YTl F gt g

gfe &3 BT @B 10500 W2 § 3R T THMIAR YoI3il & i &1 avaad g 100 Hiew §, @ 74t
& TIY B Y13 ST TS 3 :

1. 140 m / 140 HIR
2. 180 m / 180 HIc
3.70 m / 70 Tl

4,210 m / 210 HicX
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Correct Answer :-

« 140 m /140 fiex

5) A cycle is sold at a gain of 16%. Had it been sold for Rs.100 more, the gain would have been 20%.

The cost price of the cycle is: /Wm 16% Wﬂwa?ﬂﬂl?ﬁ%l uﬁsﬁ 100 YA 3if¥® TR 99
T <iTar aY @Y 20% BYaT1 A3 Pa BT HT T ©:

1. Rs. 2500 / 2500 T
2. Rs. 2750 / 2750 39
3. Rs. 2250 / 2250 T9
4. Rs. 3000 / 3000 ¥UT

Correct Answer :-

« Rs. 2500 / 2500 3G

6) Find the number whose cube is — 2744000. / 3 TS P JTd B FTRIPBT G - 2744000 1
1. 140

2. -140

3.-210

4,210

Correct Answer :-
« -140

7) Two dice are thrown simultaneously. The probability of getting a doublet of even number is: / 'E;':T
TRl P TH |1 b AT ST 8 | 9 TSI & GTH & T 811 &1 Wi &
3

6

w)

1
36

[«

il
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Correct Answer :-

8) If Rs.15000 amounts to Rs.18000 in 4 years, what will Rs. 25000 amounts to in 6 years at the same

rate? / Ife 4 96T A 15000 TUY P IR 18000 TUA Tl STell 7, @) I 3 U 6 96T A 25000 TYY B
R o=t B St

1. Rs. 35000 / 35000 ST
2. Rs. 32500 / 32500 TG
3. Rs. 30000 / 30000 T
4. Rs. 28000 / 28000 ¥

Correct Answer :-

« Rs. 32500 / 32500 3T

9) If the length of a rectangle is (x — 5) and breadth (x + 5), then its area is: / "ilﬁw 3T P WI'QF x

— 5) AR ASTS (x + 5) B, 9 STDT &THd ¢
1. x2+25

2. X% +10x + 25

3.x2-25

4.x%-10x +25

Correct Answer :-

10) The length of the longest rod that can be placed in a room 12 m long, 9 m broad and 8 m high is: /

TIa ol TS B awTs O 12 Hiew @4, o Hiew IS 3R 8 Hiex S $HY | @1 ST G dT &
1.19m /19 Hiex
2.15m /15 Hiex

3.17m/17 ﬂla%
4.12m/12 Hiex

Correct Answer :-

. 17m/171ﬁa
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11) What must be added to x* + 2x3 — 2x2 + x — 1 so that the resulting polynomial is exactly divisible by
x2+2x - 32 /x4 + 2x3 — 2x% + x — 1 © RIT SST ST A8 ¢ fob aRomdt agug, x2 + 2x — 3 §RIYUT &4
& fawrfora gt emee

1.-x-2

2.x+2

3.-x+2

4,x—-2

Correct Answer :-

e« x—2

12) Which of the following atomic power station is located in Tamil Nadu? FrfafEa d d s UIHIJ St

Tu daftrerg ¥ fRUT 82
1. Kaiga power plant / CRIRIETEE)
2. Tarapur power station / TRTGR Rifard ST

3. Kalpakkam power station / dalUdehH Tfad H43

4, Kakrapar power station / HHTUR Tfad a3

Correct Answer :-

« Kalpakkam power station / &edadhy fad T

13) A carbon compound when heated in excess of concentrated sulphuric acid at 443K gives ethane. The

compound is an /WWWﬁWWWﬁGﬁ\Wﬁ443WWTﬁ
foan ST 2, 1 98 3391 UG Heal ¢ | AR U gl

1. alcohol /W@’Tﬁ
2. acid / 3I&T

3. ester / TR
4, alkane /W

Correct Answer :-

« alcohol / Q@léulﬂ

14) Heavenly bodies which have no light of their own are: / 3 @My fis fSEH g+ Wad &1 UhTr -_ﬁﬁiﬁ?ﬂ %,

g g
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1. Constellations / dRTHS
2. Planets / U@
3. White dwarfs / ¥ad a8

4, Stars / AR

Correct Answer :-

o Planets / Ug

15) Which cell does not have perforated cell wall? / fora ST | fosfea wifRrer-fufr T8 g %?
1. Tracheids /Eﬁ‘s’
2. Sieve tubes / TE Al

3. Vessels / HT%W
4. Companion cells/wm

Correct Answer :-

« Companion cells / TgTR HIRBIY

16) Which system of our body is activated in response to infection? / Bﬂﬁ YRR BT I T o HpHoT &1 ufaferar
¥ wud afra glare?

1. Reproductive system / UoI
2. Immune system | afcReft &=
3. Digestive system / UTe @

4. Integumentary system / S{EATAR T o

Correct Answer :-

e Immune system | afcRed =

17) Name the tissue that stores fat. / T BI HSTRT B AT SHdP BT TH TATST
1. Blood / Xdd

2. Aerolar /Qﬁ&hﬂ?'

3. Adipose /9T

4. Bone / Y

Correct Answer :-

« Adipose /TG
(30)



18) What is meant by solid wastes ? / 31 SufRrea § T a1y 82
1. Spoilt vegetables and vegetable peels only /Wﬁmﬂ%ﬂm@m%ml

2. Cattle dung, wood , paper, cloth, hay, jute, used tea leaves only /WWGﬁW UIEER ﬂchs,“l, DI, hUST, Bd,
U, Ugad <1 i U]

3. All the above /Gmiaﬁ‘ﬂ‘l-ﬁ
4. Household garbage, urine, agricultural residues only / &Had ‘cﬁ?i@, L ER Tfﬁf 3ERY|

Correct Answer :-

« All the above /B“Cl'iiaﬁﬂ‘l-ﬁ

19) The ages of Roopa and Kavya are in the ratio 7:5. Ten years hence the ratio of their ages will be 9:7.
Their present ages are , respectively. / U 3R Bigdr ot 3y 7:5 & \?rl':]:lTI?fﬁ %I 10 au’ftrm
IS AT BT ST 9:7 BRI | STDT GAHT IR HH: gl

1. 28 years and 20 years / 28 9 3R 20 T
2. 21 years and 15 years / 21 Y 3R 15 a9
3. 35 years and 25 years / 35 e 3R 25 I8
4, 42 years and 30 years / 42 e 3R 30 98

Correct Answer :-

« 35 years and 25 years / 35 g 3R 25 9

20) %emple bells are made of metals because they are: | wifeR &t af=eai U@Gﬁﬁﬁﬁ?ﬁﬁ e 3 =
gl &

1. Heavy / 4R

2. Ductile /a1

3. Malleable / 3TeTdaes
4. Sonorous / @IA%

Correct Answer :-

« Sonorous / @IH

21) Which one of the changes observed during adolescence is not associated with boys? / frrIRIaRT & a?'l':l'

B a1a IRadl § A S 91 TP ds@| | Jafdd T8l 82
1. High pitched voice / SHY TR
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2. Appearance of moustache / §& 31T

3. Increase in height / 54 3 frq@‘

4. Broad shoulders / TS S

Correct Answer :-

« High pitched voice / Y TR

22) 7 & 7 8
Which of the following lies between s and 7? / FU A A P9 iR 7 & 9 & R@ BT 82

b | H

1] Ui | &

b |0

Correct Answer :-

U | b

23) ABCD is a parallelogram in which <DAB = 75°, < DBC = 60°. Then <CDB = . / ABCD T®
THiaR aqye & forad £DAB = 75°, £ DBC = 60° ° 9 <CDB =

Correct Answer :-

[}

. 45
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24) For any two non-zero rational numbers a and b, al2 b4 T atbl2is equal to: / forddt off 3-']' S

uRAg B3l a 3T b F AT, al2b? * atbl2 9 & RN 8:

ad = b3
1.

alé + pié
2.

as + bt
3.

a* -+ b*
4.

Correct Answer :-

as + bd

25) Which one of the features mentioned below is not applicable to striated muscle? / g afvfa fawarai

# 9 oI 9 v ¥Raa Ui & forg ang =8 g1l 32

1. They are uninucleate / 3 Uhdl Hshad gl

2. They show alternate light and dark bands / 3 debfed gedb 31 X Ue feard €l
3. They are usually attached to the bones / 3 SMHAR TR 3T T Jaw gl B

4. They are long, cylindrical and unbranched / 3 @ell, SATTHR 3R TR AT &

Correct Answer :-

« They are uninucleate / d T Thad gl

26) AB and CD are two parallel chords of a circle such that AB = 10 cm and CD = 24 cm. If the chords are on
the opposite sides of the center and the distance between them is 17 cm, then the radius of the circle is: /

AB 3R CD U® g1 &1 Gl GUHTR ST 8 forad AB = 10 J9t 3R €D = 24 Tt | Afe SH) A Fx & faudia
uel § & SR 3% S 1 gt 17 AW R, A g Bt A=

1.13cm /13 EeE]

2. 10 cm/lO@Tﬁ

3.15ecm/ 15 papsi]

4, 120m/12®1ﬁ

Correct Answer :-

. 13cm/13®ﬁ[



27) Black dot like structures seen in the underside of fern leaflets are: / T+ Uuidie d &t R femq
1. Sori / |

2. Seeds / dIoT

3. Spores /_Gﬂ\_rﬂ'ﬁ

4. Sporophylls /_Gﬂwtmf

Correct Answer :-

e Sori /?hﬁ'
28) Winged seeds are found in ./ g_cl'lTlTﬁ G| | g 5G| %I
1. fern /UU[TT[

2. sunflower / H}fﬂ'@){
3. xanthium / STTH

4. drumstick / SURCH

Correct Answer :-

e drumstick / sﬂ%

29) The Himalayan forests, particularly; Garhwal Himalayas have been burning regularly during the last few
summers, with colossal loss of vegetation cover of that region. The reasons for fast-spreading forest fires

could be: / RRHATET & Si7el fRly U X; Tgara F Siel o $o Mwera @ FHafid w4 o k@ 8, e
PRUI I &F & TRUTS ATARVT HT R THA 3T 8 | SIS DI ST HT il & Heq & HRUI G APd &

1. Fanned by strong winds onIy/WWBﬂTGﬁWWﬁﬁ,
2. High temperatures onIy/aﬁﬁBﬁﬂmﬁH

3. All of the above / 3Tdd it

4. Prolonged drought only / N RAREARIEE GFITQ'@

Correct Answer :-

« Allof the above / STYad Tqaff

30) When electrodes are immersed in acidulated water and electric current is passed, the bubbles formed

at positive terminal is:/msﬁaﬁsaﬁalwﬁwvﬁﬁ@mm%amﬁ@awwﬁaaﬁwaa}
YD R TR §94 919 gaIgd 8id &

1. Hydrogen gas / EIQS:AIGI;I eS|
2. Oxygen gas / TS T
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3. Carbon dioxide / HTe STS3HRISS
4. Nitrogen gas /ﬂ'l%@ﬁ?ﬁﬂ

Correct Answer :-

« Oxygen gas / 3faeH T
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